Session-2021-22

Sample paper Second Term Examination
Class 10+2 (Regular Students)
Subject- Accountancy

Time allowed - 3 hrs M.M. 50

= st ;

General Instructions :
(1) 9t g AfEE B |
All Questions are compulsory.
(2) S G 3R 3Tl & STIER THT 916
Answer should be brief and according to marks allowed.
(3) i @t gl o F sifera foRa TR
Marks allotted to each question are indicated against it.
(20 *1 =20)
1. 991
1. 379 Yt o1 98 W TS99 Shael gt S qHIE R HEE S
Thal ¢
() SAfereRd gt (@) sratad gsit
() wfed gt (=) fretfera it
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4.

The portion of the Capital which can be called up only on the
winding up of the company; is called :

(a) Authorised capital (b) uncalled capital

(c) Reserve capital (d) Issued capital
T SHIER B & -

(%) AR (@) Tt

(1) TR (¥1) T4 § T &l
Equity shareholders are :

(a) creditors (b) owners

(c) Directors (d) None of these
a9l W stfyenan Wit fan s wsa @ -
() 5% (@) 6%

(M) 10% (=) T3 AT gfaerd
Maximum premium on shares are :

(a) 5% (b) 6%

(c) 10% (d) None of these
ST o witve ftfi forg s & -

() IS Tk 1Y (@) =S o fomr
(1) SR < Rk 919 (F) 378 9 ®E 81
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5.

6.

Zero coupon bonds are issued :
(a) with the rate of interest

(b) without the rate of interest
(c) with the rate of zero interest
(d) None of these

THOTIS T YEfIid R © o
() sttt gry faf=m (@) HaTAH] g1 3AIEH
(1) Ivsit afy o1 R0 (9) 379 9 & 81

Debentures represents :
(a) Investments by equity shareholderes
(b) Director’s share in a company

(c) Long-term liabilities of a business

(d) None of these
ot o frfae W ara wifaam w5t afer femg s -
(o) wef ver & (@) T Te S ve |

(1) Sl v ¥ (T H) (9) shfee vear ¥ (3T H)
Premium on Redemption of debentures a/cis:
(a) Assets side (b) Equity and liabilities side

(c) Dr. side (expenses) (d) credit side (revenue)
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7.

8.

o.

31 faeror § &iF ST GBI © ;-
() A Tl (@) ATv-BIH e |
(1) Y-8 | () ST Tt

Income statement include which account :

(a) Trading account

(b) statement of profit & loss

(c) statement of profit and loss appropriation A/c

(d) All of the above

AT & fearfa faawor o1 grey wia-dt STt o fean mn g ?
() FATYATILYM-1 (@) SFATHET 1L, HHI-1T

(1) ST 9E-I0 (°F) ST IO 9PV

The prescribed form of balance sheet for the companies has been
given in the schedule :

(a) Schedule IIT, Part-I ~ (b) Schedule III, Part-11
(c¢) Schedule I, Part-IIT  (d) Schedule III, Part-IV

i fom s o 31=<ivq fe@rE st € ?
() Tt weafa (3Ta gwf) (@) fafm
(1) <ol wEafaE (&) 999 wd e
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Goodwill is shown under the head :
(a) Fixed assets (Intangible assets)
(b) Investment

(c) Current assets

(d) Reserves and Surplus
10. fo<far foramoli & enfie g1 ©
(%) AR Gl (@) wr-%Tf <l feferzom
() Feerfe fererzom (=) SR |4l
Analysis of Financial statements involve :
(a) Trading A/c (b) Statement of Profit and Loss
(c) Balance (d) All of the above
1. f=1 9 9 - fadia fageor &1 Susor € 2
1. eI ferertor 2. AU fargeiyor
3. ygf fawerwor 4. et T

Select the tools of financial analysis :

(a) Comparative statement (b) Ratio Analysis
(c) Trend Analysis (d) All of the above

12. A 9 wiH-w HEeH Fa R ?
1. fospa == 2. U< <
3. S hldl 4. 3T H 9 hIS a1
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Select the operating expenses :
(a) Sales expenses (b) Interest received

(c) Discount on Purchase (d) None of the above

13. fasha gU oA 1 @ | wfae g €
1. A T 2. IoH&l W ST F Sl
3. ko ATIA 2 4. ST H 4 IS 781

Cost of goods sold involves :

(a) Only Direct Expenses

(b) Both Direct and Indirect Expenses
(c) Only Indirect Expenses

(d) All of the above

14. oA faxia faawor Seexvr &
1. &fast fagetwor st 2. ervereq faerwor
3. YUK QM 4. IYUHK H 9 hlg T8I
Example of comparative financial statement :

(a) Horizontal (b) Vertical
(c) Both of them (d) None of the above
15. H-hROT T I3 -
9T ;- v § <1 e few U ® | ST el ol a@ aen fe
foredt & @ T fashe o1 9@ & |
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1. ST YA FET§ U1 HUF-1L, HUT-1 i T AT E |

2. T e TET €, fohe e [, -1 ! Ue! e Te1 & |
3. HYA-19ET &, WAfehd HA-117Ted © |

4. HA-11 F&1 &, AR HYF-17Ted © |

R~ 1-3TUT TTTeTol Ueh | o & < o 1R Hifseh qgesii
T IY&T HLAT © |

A 11-3TIUTd fITCATI, TTUMATH Toreetoor shi Weh dehrileh &Il
gl

Assertion-Reasoning Question :-
Note- Read the following statement-Assertion

(A) and Reason (R). Choose one of the correct alternatives given
below :

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is
the correct explanation of Assertion (A).

(b) Both Assertion (A) and Reason (R) are true and Reason (R) is
not the correct explanation of Assertion (A).

(c) Assertion (A) is true but Reason (R) is false.
(d) Assertion (A) is false but Reason (R) is true.

Assertion (A) -Ratio Analysis ignores non-monetary aspects of
transactions of an enterprise.

Reason (R)- Ratio Anaylsis is a technique of quantitative analysis.
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16. RIS St T qA FT T ?
What is the formula of working capital ?
(a) Cash balance - Bank balance
(b) Current liabilities-Current assets

(c) Current Assets -Current liabilities
(d) None of these

1. TG - Sk WY
2. =] Sifered-=re] weaf
3, =] grufai-are] <
4. T8 ot Tt
17. T AGIhA ShHET o oY & HIY bl TGk Had ¢ |

A mathematical expression of the relationship between two items

shown in the financial statement.

1. =e] AU (Current Ratio) 2. TR 3T (Accounting
Ratio)

3. TN ST (Sacrificing Ratio) 4. T 34 (Liquid Ratio)
18. Uehg YaTe Taerur fhe YehR o ford ISt o 19 AT 2

1. STCYHICA 2. rEhTeAA

3. AT 4. 3fq SrefRIe
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19.

20.

Cash flow statement is required for the financial planning of :
(a) Short term (b) Long term

(c) Medium term (d) Very long term

=1 4 | -9 Uehg HI ST ET © 2

1. 31Ex =441 H Jig 2. qeex =i | gig

3. Wi | gfg 4. 9 fau=ii # gfg

Which of'the following is not the application of cash ?

(a) Increase in outstanding expenses

(b) Increase in prepaid expenses

(c) Increase in Inventory

(d) Increase in bills receivable

HETe ¥ AT ol TUHT hid 98 ford U1 0l g oW | el

Tfﬂ?ﬂ%:
1. 39 2. A T 3T
3. ROEl o ffaa w et 4. YN g1

While calculating profit from operation which will be added to net

profit :
(a) Depreciation (b) Good will written off
(c) Loss on Issue of Debentures  (d) All of the above
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HIT-37
Part-A
HIA o fAT A&

Accounts for Companies

Q.2. Gfea gsit & @ s & 2

3.

4.

5.

What is meant by Reserve capital ? )
1T SRS T R A 7 2

What is the meaning of Redeemable Debentures ? )
11 @ 319 S TUA ® 2 What do you mean by ? 3)
1. TRECRITE o= (Convertible Debentures)

2. d-4h RIIA (Secured Debentures)

3. digch RUT4 (Bearer Debentures)

eIt fEreRT 31 T FHdT 3791 H ST T hl |

Describe the differences between Preference shares and Equity
shares. A3)

AT
Or

A fafee % 10 et % 100 qof =nf=d, 3i@1 5 WX A 371 wa
FATsied o & 5 Y 339 skl YIAH fohall o1 ol STed L foram | g9
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T 313if o1 % 9 Ufd quicd 379l & ®9 H z ! qF: Fffid &2
T | 37Tl <Rl STed Rt a1 4A: FiTHd i o 9w | STovdh
T gfafeat sAET |

A ltd. forfeited 100 shares of rupees 10 each, fully called up on
which Mr. x has paid only application and allotment money of
rupees 5 per share. All of the shares were re-issued to Mr.z
rupees 9 as fully paid up. Pass necessary Journal Entries for forfei-
ture and re-issue.

I o B0 Y AT SVAE & 2 T A1 ok 3721 o1 501 vl
fren ST 2 T gfaftedi g samen Sifs )
Define forfeiture of share. How the shares of a company are
forefeited ? Explain with the help of Journal Entries. 4)

(soreT)

Or

x fafireg 11 % 10 7= aret 30,000 FHAT 3720 o T & 9=
= et © | Ui 7= TR | 29 §: 376ied W E 3, 37eeq
W 3, 999 JraT W % 2, fgdia we sifaq I w s 21
[ 3730 o o ST1aes o U &1 1Y 37 SA1eie qei A3l
= gt fvrEr urw &1 T X fafaee it IsmmeEn fafear
RIS |

X Ltd. invited application for 30,000 equity shares of Rs. 10 each.
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Money is payable as follows : Rs. 3 on application, Rs. 3 on allot-
ment, Rs. 2 on Firstcall and Rs. 2 on second and final call.

All the shares applied and all sums due on allotment and calls have
been received. You are required to prepare Journal Entries of X Ltd.

Part-B
HT-o
fariter feramont <At fargereoT
Analysis of Financial Statement

ol 31 faxita fereruil & I fafa |
Write the names of any two financial statement. )
a1 Frefafaad 7l w1 el faewo & ey s K 9er &
A= femmddt ?

1. 91 foros 2.9

3. aed = 4. fafay @ eR

Under what headings and on which side of the Balance sheet will
you show the following items ? (2)
(a) Bills Receivable (b) Patents

(c) Prepaid Expenses (d) Sundry creditors
qerTee fearfa-faaror Fn g g 2
What is Comparative Financial Statement ? 2

ST
Or
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10.

11.

12.

it ST 1:5:1 § | 1] et % 1,00, 000 T 4] i
¥, 40,000 B 1 ik o1 Hod F1d |

Quick Ratio 1 : 5: 1, current assets 1,00,000 current liabilities Rs.
40,000. Calculate the value of stock.

forctar forarmutt st gt & o= SIfUR & 2 39k e <1 3l ot
Ui e |

What is comparison of financial statements ? Explain its two main

objectives. 3
ST forwetoor o @eif o1 o e |
Explain advantages of Ratio Analysis. 3
SREN
Or
T 131l © Hehel AT ST 1 hifsT |

fashd ®. 4,00,000; Fehel AT ARTA T 25%

Compute the gross profit ratio from the following information :-
Sales Rs. 4,00,000, gross Profit 25% on cost.

Uehg YaTs faerur N ? ek YaTe faewor st Siur s |
What is Cash Flow statement ? Explain the limitations of Cash Flow
statement (CFS) 4

31ET (Or)
11 3iRsl o HaTad RSl | Ushs U1 i 0T SifsT : -
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From the following figures calculate the cash flow from operating

activities.

As on 31st March

Particulars 2014Rs) 2015(Rs)
Balance of statement of profit & loss 5,000 4,000
(e-g1 ferereor =1 )

Balance of Bills Receivable 7,000 6,000
(ure forasii <1 9w)

General Reserve 10,000 12,000
("M HeY)

Outstanding Rent 2,000 1,500

( 3Tex fohamm)

Prepaid Salaries 500 600
(3™ <7 o)

Goodwill 8,000 6,000
(i)

Development Rebate Reserve 15,000 20,000
(fom g2 w=m)

Balance of Debtors 8,000 7500
(G T 3IW)
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